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(A), (B), (C)의 각 네모 안에서 문맥에 맞는 낱말로 가장 적절한 것은?

  Traditionally, most ecologists assumed that community stability ― the 
ability of a community to withstand environmental disturbances ― is a 
consequence of community (A)  complexity / simplicity . That is, a 
community with considerable species richness may function better and be 
more stable than a community with less species richness. According to 
this view, the greater the species richness, the less critically important 
any single species should be. With many possible interactions within the 
community, it is (B)  likely / unlikely  that any single disturbance could 
affect enough components of the system to make a significant difference 
in its functioning. Evidence for this hypothesis includes the fact that 
destructive outbreaks of pests are more (C)  common / uncommon  in 
cultivated fields, which are low-diversity communities, than in natural 
communities with greater species richness.

* community: 군집, 군락

       (A)            (B)            (C)
① complexity ······  likely  ······  common 
② complexity ······ unlikely ······  common 
③ complexity ······ unlikely ······ uncommon 
④ simplicity ······  likely  ······  common 
⑤ simplicity ······ unlikely ······ uncommon


